For each of the town's three alternatives, what would be the town's economic cost of using the funds in the year ending December 31, 2004? What would be the amount of interest expenditure that the town would be required to report for the year ending December 31, 2004 in its governmental funds?
Economic cost should ideally be offset by commeasuring economic gain according to projections made at the time of borrowing.

Option 1. It has to report interest expenditure of $ 200,000.

Option 2. It has to report interest expenditure of $ 300,000

Option 3. It has to report interest expenditure of $ 300,000

( Because interest has to be accounted for  every year as per U.S. GASB standards )

2. Suppose that the town elects the first option and issues $10 million of twenty-year, 6 percent coupon bonds at par on September 1, 2004. The town establishes a debt service fund to account for resources that it sets aside to pay principal and interest on the bonds. On December 31, 2004, the town transfers $200,000 from the general fund to the debt service fund to cover the first interest payment that is due on January 1, 2005.

a. How would the transfer be reported in the general fund?
Debt Service Fund Dr.  $ 200,000

To General Fund           $ 200,000

General Fund will be credited by $ 200,000, that is $ 200,000 will be transferred from fund. 
b. How would the transfer be reported in the debt service fund? What options are

available to the town to record 2004 interest in the debt service fund?
Debt service fund will be debited by $ 200,000,. that is $ 200,000 will be transferred in fund.

Ideally this should be accounted in the concerned year. The other option is it can be accounted on 1st Jan 2005 that is next year.

According to GASB Standards Interest accrued is allowed to be accounted in the respective year, the relevant portion of GASB Standard No. 34, Basic Financial Statements— and Management Discussion and Analysis—for Statement and Local Governments (GASB, 1999) is quoted here “.Expenditures are recognized when the related liabilities are incurred, if measurable, except for unmatured interest on long-term debt, which is recognized when legally due.”

3. Suppose that the town borrowed $10 million on September 1, 2004, and temporarily invested the proceeds in two-year, 6 percent Treasury notes. The first payment of debt interest, $200,000, is payable on January 1, 2005.

a. What would be the town's economic gain from investing the funds in the year ending December 31, 2004? Ignore borrowing costs.
The apparent town’s economic gain will be $ 200,000 because the same might not have been accounted at the time of proposal.
b. How much investment revenue should the town report for the year ending December 31, 2004? Assume there was no change in prevailing interest rates.
Investment revenue the town would be offset against the costs.
